
 

25+ CAT VARC Questions with Solutions 
Question 1. Below are four sentences labeled 1, 2, 3, and 4. When arranged in the correct 

order, they form a logical and coherent paragraph. Choose the correct sequence of the 

numbers to complete the paragraph: 

1) Returning artefacts to their countries of origin often runs into legal challenges, as 

many Western museums are bound by laws that prevent them from parting with 

items in their collections. 

2) This push comes from nations like Nigeria, which are urging European museums to 

return valuable artefacts taken during the colonial era. 

3) Many European museums are now grappling with their colonial past—some are 

making efforts to return artefacts, though they are reluctant to give up their most 

treasured pieces. 

4) Despite legal restrictions, governments and institutions in countries like France and 

Germany are beginning to support the return of certain artefacts as a way to address 

their colonial legacies. 

Answer: 3 - 2 - 1 - 4 

Explanation: 3 introduces the situation (museums facing colonial legacies). 2 gives the cause 

(countries like Nigeria demanding return). 1 mentions legal hurdles faced by museums. 4 

concludes with government-level support despite restrictions. 

Question 2. Below are five jumbled sentences on a common topic. Four of them can 

logically be ordered to form a coherent paragraph. Your task is to identify the sentence 

that does not logically fit in with the other four sentences and enter the number of that 

sentence as your answer: 

1) They always include a preliminary course on navigating capitalism with Chinese 

characteristics, and instead of typical cases from large US corporates, they now have a focus 

on using Western theories to help understand China’s dynamic and busy local companies. 

2) While the best Chinese business schools look like their western competitors they are 

now diverging in terms of what they teach and career boosts they offer. 

3) Western schools have developed double degree programmes which have become 

very popular with both domestic and international students and the prestige of these 

partnerships helps boost the Western schools' brand in China. 

4) For students, a key attraction is meeting the captains of China's private sector. 



 

5) Their business courses now primarily target meeting the increasing demand from 

China Inc, which has become more global, richer, and is more willing to hire from this 

Sinocentric student population. 

Correct Answer: 3 

Explanation: Sentences 1, 2, 4, and 5 deal with the offerings and appeal of Chinese business 

schools. Sentence 3 features an abrupt shift in focus towards Western schools, disrupting 

the paragraph's unity. 

Question 3. The following four sentences, labeled 1, 2, 3, and 4, can be arranged to form a 

clear and logical paragraph. Choose the correct sequence of the sentences and enter the 

four-digit number representing that order: 

1) The United States has long argued that the Northwest Passage is an international 

waterway, allowing its commercial and military ships to transit without seeking 

Canada’s approval. 

2) Canada gained official ownership of the group of islands comprising the 

Northwest Passage in 1880, asserting sovereignty over all shipping routes that 

pass through it. 

3) Although the U.S. and Canada have not legally resolved this access dispute, they 

operate under an agreement that requires the U.S. to obtain Canada’s consent 

before any transit. 

4) However, the issue may become irrelevant, as scientists predict the Arctic Ocean 

could soon be ice-free during summers, allowing vessels to bypass the need for 

permission along any Northwest Passage route. 

Answer: 2 - 1 - 3 - 4 

Explanation: 

1) 2 gives the historical background (Canada’s claim). 

2) 1 presents the U.S. position, which contradicts Canada’s claim. 

3) 3 explains the current status (a working agreement). 

4) 4 offers a future scenario that may eliminate the issue. 

Question 4. Here are five sentences in jumbled order that are related to the same theme. 

Four of these sentences can be correctly connected and organized in a way that produces a 

clear paragraph. However, one of the sentences does not make sense with respect to the 

theme. Read each sentence carefully and pick out the sentence that does not fit. Enter the 

number of the odd sentence as your answer: 



 

 

1) 1) Wikipedia is an excellent example because most contributors are men, and as 

a result, the content will likely align with men’s values and interests. 

2) 2) A lack of diversity of thought and representation creates a distorted 

representation of the future that reinforces and intensifies existing inequalities. 

3) 3) The over-representation of men in the tech industry is a worrisome issue, and 

not only because of the marginalisation of women, but because technologies and 

creations ultimately embody the values and interests of their male authors. 

4) 4) It is a change for the better to address a gendered imbalance in workplaces, 

but actual change is only going to emerge if gender disparity occurs alongside 

broader social changes that can address the fundamental structural inequalities 

in employment systems. 

5) When technology is primarily shaped by male perspectives, it is typically not 

addressing the range of social contexts to which it must operate. 

Answer: 4 

Explanation: Sentences 1, 2, 3, and 5 all deal with how male-dominated tech contexts shape 

technology and information. Sentence 4 discusses generic workplace reform writ large, 

which does not address this central theme of tech and gender bias. 

Question 5. What is the correct plural form of the word "cactus"? 

a) Cacti 

a) Cactuses 

b) Cactus 

c) Cactusses 

Answer: a) Cacti 

Explanation: 

"Cactus" is of Latin origin, and the proper plural is "Cacti" (similar to "alumni"). 

"Cactuses" is acceptable in informal use, but not preferred in formal writing. 

"Cactus" is singular, and "Cactusses" is grammatically incorrect. 

Question 6. Choose the correct homophone for a baking ingredient: 

A. Flower 

B. Flour 



 

C. Floor 

D. Floar 

Answer: B) Flour 

Explanation: A homophone is a word that sounds the same as another word but has a 

different meaning and spelling. 

a) "Flour" is the baking ingredient made by grinding grains. 

b) "Flower" is a blooming plant. 

c) "Floor" is part of a building. 

d) "Floar" is not a real word. 

Question 7. Identify the figure of speech used in the phrase "The world is your oyster." 

A. Alliteration 

B. Simile 

C. Metaphor 

D. Personification 

Correct Answer: C) Metaphor 

Explanation: In the phrase "the world is your oyster", it means that the world has 

opportunities and possibilities for you, just like an oyster can contain a pearl. - There is no 

"like" or "as" (so it is not a simile). - It doesn't give human characteristics (not 

personification), and it does not have repeated sounds (not alliteration). 

Question 8: Read the passage carefully and select the summary that best conveys its main 

idea: 

The human brain is wired to identify patterns. It not only processes incoming data but also 

stores memories of past experiences. These memories—both joyful and painful—help 

form intuition, which subconsciously guides decision-making. Contrary to popular belief, 

intuition is data-driven and rooted in long-term, qualitative experiences. When patterns 

are subconsciously recognized, the brain and gut trigger neurochemical signals—known as 

somatic markers—that create a strong sense of something being right or wrong. These 

intuitive responses are faster than logical reasoning and draw from deeply human 

experiences that big data cannot replicate. 

Choose the option that best summarizes the above: 

A) Intuition is superior to big data as it surpasses rational thought and yields better results. 



 

 

B) Intuition is automatic and faster than logic, thus more reliable for decision-making. 

C) Intuition stems from years of lived experience, not necessarily from data or logic. 

D) Intuition is a neurochemical reaction driven by pattern recognition and built upon a vast 

experiential memory base. 

Answer: D) Intuition is a neurochemical reaction driven by pattern recognition and built 

upon a vast experiential memory base. 

Explanation: Option D precisely encapsulates the scientific and experiential basis of intuition 

described in the passage. The other options either overstate the comparison with big data or 

omit critical details like somatic markers or neurochemistry. 

Question 9: Select the best option that represents the content of the following passage: 

Much attention has been paid to creativity as a major force for economic innovation. 

There are many organizations that now study and advocate for creativity, and there are 

shelves of literature that investigate it and the role it plays in society. This much emphasis 

has a way of obscuring the real meaning of creativity. With so many attitudes, 

interpretations, and practices regarding creativity, the original meaning of creativity 

appears to have lost meaning. Ironically, this zealous obsession with creativity may be an 

obstacle to the act of creation itself. Select the best summary. 

A) Attempts to study creativity and promote it have made the term so nebulous that it has 

lost all meaning.  

B) The field of research about creativity has complicated true creative production.  

C) In the whirlwind of creativity, it has developed so quickly that its fluid identity hinders 

innovation.  

D) The overvaluation of creativity has obfuscated its real meaning, ultimately compromising 

authentic creative production.  

Correct Answer: D) The overvaluation of creativity has obfuscated its real meaning, 

ultimately compromising authentic creative production  

Explanation: Option D captures the irony and the salient concern of the passage; the 

inflating of creativity dilutes and limits creativity. 

Question 10: Rearrange the following sentences to form a logically connected paragraph:  

1) The project aims to develop sustainable energy solutions for urban regions.  



 
 

2) A dedicated team of scientists and engineers is managing different facets of this 

initiative.  

3) Renewable energy sources such as solar and wind are core to the plan.  

4) Governments and private firms are making significant investments in green energy. 

Answer: Correct Sequence: 4 – 1 – 3 – 2 

Explanation: 

 4 introduces the broader context (investment in green energy). 

 1 presents a specific project. 

 3 details the project’s core technologies. 

 2 concludes with the team behind it. 

Question 11: Find the grammatically incorrect part of this sentence: “Each of the students 

in the classroom was given a chance to present their ideas.” 

Error: "were" should be replaced with "was". 

Reason: "Each" is a singular subject and should take a singular verb. 

Answer: “Each of the students in the classroom was given a chance to present his or her 

ideas.” 

Explanation: 

 “Each” is a singular subject. So verbs and pronouns referring to it must also be 

singular. 

 “Their” is plural; it should be “his or her” in formal usage. 

Question 12: Vocabulary in Context- Complete the sentence with the most appropriate 

word: “The scientist’s new theory was initially met with ______, but later gained 

recognition in academic circles.” 

A) Skepticism 

B) Admiration 

C) Indifference 

D) Enthusiasm 

Correct Answer: A) Skepticism 



 

Explanation: The word “but later gained recognition” indicates doubt or resistance at first. 

Hence, “skepticism” (meaning doubt or disbelief) is the most logical fit. 

Question 13: "Online education is less effective than classroom learning because there is 

no face-to-face interaction between students and teachers." Which of the following 

weakens the argument? 

A) Research shows that students in online courses are performing as well as students in the 

traditional setting. 

B) Online learning provides flexibility that students appreciate.  

C) Live online sessions can replicate in-person interaction. 

D) The resources in the online class were just as thorough.  

Answer: A) Research shows that students in online courses are performing as well as 

students in the traditional setting. 

Explanation: Answer A is as close to a direct response to the argument as possible as it 

provides counter-evidence. The other answers either provide support or an explanation for 

online learning, but do not weaken the original claim. 

Question 14: What is the central concern addressed in the passage? 

The Industrial Revolution brought immense technological progress, but it also led to 

significant environmental damage. Increased emissions, deforestation, and pollution are 

among the unintended consequences of industrialization. 

A) Industrial growth in the 19th century 

B) Urban expansion due to industrialization 

C) The harmful environmental effects of industrial progress 

D) The economic benefits of the Industrial Revolution 

Answer: C) The harmful environmental effects of industrial progress 

Explanation: The focus is on the environmental damage as a result of industrial growth, not 

the growth itself or its benefits. 

Question 15: Choose the sentence that is grammatically and contextually correct: 

A) The principle of the school is very strict. 

B) The principal of the school is very strict. 



 

Correct Answer: B 

Explanation: “Principal” refers to the head of a school; “principle” refers to a fundamental 

rule or belief. 

Question 16: What does the phrase “a blessing in disguise” mean? 

A) A situation that appears negative but turns out to be beneficial 

B) A spiritual gift given by a holy person 

C) A fortunate event that’s easy to identify 

D) A hidden treasure with great value 

Answer: A) A situation that appears negative but turns out to be beneficial 

Explanation: The idiom “a blessing in disguise” refers to something that seems bad at first 

but results in something good or beneficial. It highlights the unexpected positive outcome of 

a seemingly unfortunate event. 

Question 17: Fill in the blank with the most appropriate word: “The manager was known 

for his ______ attitude, always making decisions after careful thought.” 

A) Impulsive 

B) Reckless 

C) Prudent 

D) Indifferent 

Answer: C) Prudent 

Explanation: 

 Prudent means wise or careful in making decisions. 

 The phrase “after careful thought” supports this. 

 Impulsive and reckless are the opposite, and indifferent means not caring, which 

doesn’t fit either. 

Question 18: “The success of a democracy relies heavily on an informed citizenry. When 

voters have access to accurate, unbiased information, they are more likely to make 

decisions that benefit the collective good. However, misinformation and media bias can 

distort public opinion, undermining the democratic process.”  What is the central idea of 

the passage? 



 

 

A) Democracies can function without voter participation. 

B) Misinformation is a tool used by the government. 

C) An informed public is essential for a healthy democracy. 

D) Biased media always benefits democratic governance. 

Answer: C) An informed public is essential for a healthy democracy. 

Explanation: The passage highlights the importance of informed citizens in a democracy and 

warns against misinformation. 

Question 19: Rearrange the following sentences to form a coherent paragraph: 

1) These paintings were later recognized as masterpieces. 

2) Van Gogh’s work received little recognition during his lifetime. 

3) His bold use of color and emotional intensity set him apart. 

4) Today, he is considered one of the most influential artists in history. 

Answer: 2 – 3 – 1 – 4 

Explanation: The paragraph logically progresses from a lack of recognition to his unique 

style, followed by later recognition, and ends with his legacy. 

Question 20. Choose the word that best fits the sentence: "Despite the manager’s ______ 

remarks, the team stayed motivated and performed well." 

A) inspiring 

B) harsh 

C) generous 

D) enthusiastic 

Answer: B) harsh 

Explanation: The contrast between the manager’s remarks and the team’s performance 

suggests the remarks were negative or harsh. 

Question 21: Find the sentence that does not belong to the group: 

A) Climate change poses a serious threat to global ecosystems. 

B) Rising temperatures are melting polar ice caps at an alarming rate. 



 

 

C) Businesses are offering bigger discounts during the holiday season. 

D) Greenhouse gas emissions must be reduced to slow global warming. 

Answer: C) Businesses are offering bigger discounts during the holiday season. 

Explanation: All other sentences are related to climate change; C is about holiday shopping 

and breaks the thematic flow. 

Question 22: "Emotional intelligence is the ability to understand and manage your own 

emotions and to know and modify the emotions of others. Unlike IQ, one can gain 

emotional intelligence through practice and self-awareness over time. Emotional 

intelligence is a vital component of leadership and your effectiveness in the workplace." 

Best or most appropriate summary: 

A) Emotional intelligence is more important than IQ in all contexts. 

B) IQ is fixed and cannot be changed; emotional intelligence is not. 

C) Emotional intelligence is a learnable skill needed to become a successful professional. 

D) Emotions can only be controlled through logic and intelligence. 

Answer: C) Emotional intelligence is a learnable skill needed to become a successful 

professional. 

Explanation: This summary captures the overall idea that the author is presenting, 

conveying that emotional intelligence is important and that it can be developed. 

Q23. Identify the grammatically incorrect part: "One of the key reasons for his success is 

his ability to communicate clearly and inspire others." 

A) One of the key reasons 

B) for his success 

C) are his ability 

D) to communicate clearly and inspire others 

Answer: C) are his ability 

Explanation: “One of the key reasons” is singular → it should be “is his ability”, not “are.” 

 



 

 

Question 24: Strengthen the Argument "Reading regularly helps improve students' 

language skills and critical thinking." Which of the following statements would best 

present the argument?  

A) Students who read regularly do better on vocabulary and comprehension tests.  

B) Audiobooks are just as entertaining as physical books.  

C) Students prefer viewing videos for entertainment as opposed to reading books.  

D) A direct measure of critical thinking is not possible.  

Answer: A) Students who read regularly do better on vocabulary and comprehension tests.  

Explanation: This gives direct evidence to support the argument that reading increases 

language and critical skills. 

Question 25: Identify the grammatically correct sentence: 

A) Neither the teacher nor the students were late for the class. 

B) Neither the teacher nor the students were late for the class. 

C) Neither the teacher nor the students were late for the class. 

D) Neither the teacher nor the students is late for the class. 

Correct Answer: B) Neither the teacher nor the students were late for the class. 

Explanation: 

In a “neither...nor” sentence where subjects differ in number (singular + plural), the verb 

agrees with the subject closest to it. 

 “Students” (plural) is closer to the verb, so we use “were”. 

 Option A uses “was”, which is incorrect here. 

 Option C uses “or” instead of “nor”, which breaks the idiom. 

 Option D has “is”, which again mismatches with the plural “students”. 

 

Question 26: Social media platforms were originally developed to connect people and 

foster communication. Over time, however, they have evolved into powerful tools for 

marketing, political campaigning, and public discourse. While they promote engagement, 

they also contribute to echo chambers, misinformation, and reduced attention spans. 

What is the main idea of the passage? 



 

 

A) Social media has fulfilled its original purpose of communication. 

B) Social media is mainly responsible for political manipulation. 

C) Social media platforms have evolved, offering both benefits and drawbacks. 

D) Misinformation is the most dangerous feature of social media. 

Correct Answer: C) Social media platforms have evolved, offering both benefits and 

drawbacks. 

Explanation: The passage outlines the evolution of social media, emphasizing both positive 

aspects (connection, communication) and negative consequences (misinformation, echo 

chambers). 

 Option A is too narrow. 

 Option B and D focus on specific negative aspects but miss the broader evolution 

theme. 

 Option C correctly captures the balanced main idea. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 


